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FIGURE 7-8 Formation of the two cyclic forms of p-glucose. Reac-
tion between the aldehyde group at C-1 and the hydroxyl group at
C-5 forms a hemiacetal linkage, producing either of two stereoiso-
mers, the @ and B anomers, which differ only in the stereochemistry
around the hemiacetal carbon. The interconversion of a and 8 anomers
is called mutarotation.
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FIGURE 7-11 Formation of maltose. A disaccharide is formed from
two monosaccharides (here, two molecules of p-glucose) when an
—OH (alcohol) of one glucose molecule (right) condenses with the
intramolecular hemiacetal of the other glucose molecule (left), with
elimination of H,O and formation of an O-glycosidic bond. The re-
versal of this reaction is hydrolysis—attack by H,0O on the glycosidic
bond. The maltose molecule retains a reducing hemiacetal at the
C-1 not involved in the glycosidic bond. Because mutarotation inter-
converts the @ and B forms of the hemiacetal, the bonds at this posi-
tion are sometimes depicted with wavy lines, as shown here, to indi-
cate that the structure may be either « or B.



